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Q.No Question Key Objection Type Explain what is wrong?
uy KEIG] IR MU BT IR * FaTg f& a1 Tad § *
e
1 AR H+ I F Sl R H, IR T, H- LT A 3 H, 197 8 300 H o % 3 @ 1, 1o 8, et A --Select--
o 4 e s 2 6 ), P adi 2 2
If H + I means H is the sister of I; H — I means H is the brother of [ and H x | means H is the mother of I, A
which of the following means that J is the daughter of P ?
() PxQ-J+M  (B) P+Q-JxM C) P-QxI+M D) P-QxJ-M
2 fau . ferpett # & a7 wroe 9 St fow g w6q * PARANORMAL® ¥ el 5757 31 el U ol WAMT 7 A --Select--
T A ST AT
Choose the word from the given alternatives that cannot be formed using each letter of the given word 4
‘PARANORMAL’ only once. Z
(A) RARE (B) PALM (C) ROAR (D) NORM
3 et e = i few e e o st v ) D --Select--

Choose the next figure that continues the pattern.

RIS » ’

I 11 111 v

(A) @x@ (B) % (©) % (D) ‘z%

4 EESREURZIELE B --Select--
Complete the analogy :
145: 15 5329 V
(a) 52 B) s52° ©) 357 (D) 32°
5 ST # T HEAT 0 S | A --Select--
Find the missing number in the series.
20, 35, 60, 103, 190, ; VA
(A) 355 (B) 280 (€) 560 (D) 225
6 v 20 . e i i e T e 2, T A gt @ s 40 o wer 2, o and wedt 2 it 30 o T ¥ D --Select--
¥ AR AT s & 3 40 # e 2| fen o amifiew g A fefa 2o
(A) 65T (B) 70 (C) 607, (D) S0 Y

Priya started walking towards cast for 20 m, then took left and walked for 40 m, then trned right and
walked for 30 m. Now she turns dght and walks 40 m. How far is priya from her starting point 7

{(A) 65m (B) 70m (C) 60m (D) 50m
7 e wEfra = 12 frentier ufim s € s fe e sin gee 7 frarie gt m war e C --Select--
ansferer et i foea e i simsmrar 2 2
(A) ¥ (B) ufem (C) =feor O ™ y/

A cyclist rides 12 kilometres west and then turns right and rides 7 kilometres. In which direction is the
cyclist now travelling ?

(A) North (B) West (C) South (D) East
8 U T A A [X BT # 9 ERE A, B, €, DI A --Select--
wfi FHHA | ¥WEB | ¥WAC | @WAD P
2
T AT § Sl B 28 bi] 17 27
sefenfies et & s 14 12 8 13
Afer anfifer e 3 sefiol @
srdarfifer witer # sl afeT g o . .
e Wi sl @
T AT § I I 64 55 46 76
AT et § & T S i wieee T s g
(A) #®ED (B) &%= B (C) #awE C (D) #HawE A
A school has four sections A, B, C, D of Class IX students.
Result Section A | Section B | Section C | Section D
Students failed in both exams 28 23 17 27
Students failed in half-yearly 14 12 g 13
but passed in annual exams
Students passed in half-yearly 6 17 9 Is
but failed in annual exams
Student passed in both exams 64 55 46 76
Which section exhibits the highest pass percentage in either of the two examinations ?
(A) Section D (B) Section B (C) Section C (D) Section A
9 wF fafem s ) LEARNING® #1160 % &0 & foran 9@1 2 | 30 #18 # ‘PREPARATION® ¥ ferar C --Select--
E i
In a certain code, *“LEARNING’ is written as * 160°. How will ‘PREPARATION" be written in that code ? é
{A) 133 (B) 124 C) 266 (D) 248
10 Frefefim wrear 1 S worm § 3 F F ST caated I S S vee s ¥, @ g D --Select--
Amange the following words as per their order in an English dictionary and choose the one that comes
first : VA
Hardboard; Handspring; Handover; Handstand
(A) Hardboard (B} Handspring (C) Handstand (D) Handover
11 i TS T AT BT ST ek T SiHeATth o T WIS, e 4+ A 8, 7 — i g, B --Select--
= i FEaT R S FaEiar R |
Simplify the following expression using the given code language, where ‘+ represents *x’, X" represents é
*=*, *“—’represents ‘+’ and ‘¥’ represents ‘+'.
9+4-6x6+8
(&) 24 (B) 8 ) 12 (D) 16
12 A% 1 e Hif S v @y B e o8 & st ad @ i st afea gfa e C --Select--
Study the graph and find what is the maximum percentage increase of tea from the previous year to the
next year.
Wz

0 5 10 15 0 25
2020 2021 2022 2023
= milk (7) 14 15 16 18
B coffee (Ffl) 14 13 16 18
I tea (5TTT) 13 15 17 20
(A) 20% (B) 30.25% (C) 1765% (D) 10%
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Frefafas # & #i-a1 st 7=, Tz A F o % e e = G d i g 2

Which of the following diagrams best illustrates the relationship between Earth, Sea and Sun ?

() (B) @O © OOO (D) @

afF s FTHT A F, K, P, %, T ST A S
(A) W (B) U €y v (D) T

If the sequence of letters is A, F, K, P,___, what comes next ?

= o = e forerst s it sfafer ot v e & S fo o s g gAT A T d |
Select the option in which the numbers share the same relationship as that shared by the given pair of
numbers.

185: 199
(A) 89:106 (B) 178: 187 ) 139:153 (D) 126: 134

e it Fifs |
Complete the series.
2,6,12,20,30,42,

(A) 51 (B} 36 ) 49 (D) 63
ST 8 39 T W)

(A) T (3E) (B) e ©) = (D) e
Lionis to in Den as Spider is to A

(A) Shed (B) Hill (C) Tree (D) Web
fow o s

L STd A sAfhal A 8 S S e e |

1. P 3 =t 1 auiar & St smd €1

1L 7 3 s AT 2 ] A g

IV, IS sfraT 1 e e S S E |

1 12 7 sifere e s saftrat 3 s viver wefiore 3 farfiem st = sfafifos w0 &)
fopare st et sl drer dRa 2 7

In the given diagram :

L Rectangle represents persons who know English.

1. Trangle represents persons who know Marathi.

1. Square represents persons who know Telugu.

1V. Circle represents persons who know Hindi.

The regions labelled from 1 1o 12 various binati of 1 proficiency among the
individuals.

How many individuals can speak English exclusively ?

" —> English (35}
Marathi (721 4 -
4 :

6 /9
9
8 1 Hindi (&2
10 3
—> Telugu (A7)
A) 12 B) 5 ©) 17 (D) 19

e ST S ST FAA S I S § 8 a8 fawen g S v s § 3 e det
T AT T R |

Study the provided figures carefully and choose an option from the answer figures that maintains the
pattern observed in the problem figures.

By [ v G || h 5
Ic|citlrfrcjcitl|t1c !

I 1 m v v

@ @ (1) © 1( ™ (¥)
c | I C I C G i

T 3 FATE T U A o I SH HaT o e 3 T % S S 3 ¥ T & A S | S S
1-1-1983 %I % 380 ¥fd 7 & 3T 1-10-83, 1-10-84 3 1-10-85 W T 40 3a afen i 3fg F wm af ==
1-1-86 1 FaFaa T &, 9 =g ufa e feradt T Far g 2

A man’s pension on retirement from service is equal to half the average salary during the last 3 years of his
service. His salary from 1-1-1983 is % 380 per month, with increment of 40 due on 1-10-83, 1-10-84 and
1-10-85. If he retires on 1-1-86, what pension does he draw per month ?

(A) %230 (B)y %215 (C) T225 (D) 205

aife foreft ST 1 70%, 0.35 %, 1 36 H&AFT 120% 704 Fif=e |
If 70% of a number is (.35, then find 120% of that number.
(A} 0.6 (B) 7.2 C) 6.0 (D) 6.4

e AT 25% 1 @ e 5 % fen v g i i s fr e sifee e w0 16% Frge i d
ST A T fae 2 2

A trader marked the price of a commodity to include a profit of 25% but allowed a discount of 16% on the
marked price. What will be his actual profit ?

(A) 9% (B) 25% €y 5% (D) 16%

e Tz farmmet i 30 Tt ¥ fore aeciarst ST 40 T2 | 96 Tt ST 36 <O S E 100 T
sfere & | af 7 3T i w5 we 9 s, 6 vk 28 it @ sEd 38 2 A fEed w e
TR ?

The batting average for 30 innings of a cricket player is 40 runs. His highest score exceeds his lowest score
by 100 runs. If these two innings are not included, the average of the remaining 28 innings is 38 runs.
Then the lowest score of the player is :

A 17 (B 18 ©) 20 (D) 19

T T - 1o Ue ¥t 1 F 460 3 a2 1 38 5 A ST 8 | AT a8 W € 580§ dear 3, a4
T AT IHAT ST G ST & | T T T e AT 7

A used two-wheeler-dealer sells a scooter for ¥ 460 and makes some loss. If he had sold it for ¥ 580, his
profit would have been double of his loss. What was the cost price of the scooter ?

(A) 500 (B) 540 (©) 7430 (D) %520

285, 510, 1440 7 Heaq GAEH (HCF) F1d 1w |

Find the HCF of 285, 510, 1440,
A) 17 (B) 15 ©) 16 (D) 14

1 1 1
» 3 ® % Oz ®

1
e IS
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w Frte # attg st S afaa § | af 15 afea g wae s, @ g e ¥ e A at st
it &1 wak e 45 afi st & gd w ae ¥ van s wes afe sl ¥ o s afaa e § e
e o e Frerd e

There are Senior officers and Secretaries in an office. If 15 Secretaries went on leave, then every Secretary
has two Senior officers. After that 45 Senior officers went on leave and now every Senior officer has
5 Secretaries. Then find out how many Secretaries were there initially.

(A) 35 (B) 40 ) 25 (D) 30

e T A e 80 foRt 16 5% F o amn e 72 ot 12 9 et #1 fer s § A i @

(A) 7.5 Fedipear (B) 5.5 ferliferar (C) 6.6 Ferltfetar (D) 6.5 Ferltetar

A boat goes 80 km upstream in 16 hours and 72 km downstream in 12 hours. The speed of the boat in still
walter is 2

(A) 7.5 km/hour (B) 5.5 km/hour (C) 6.6 km/hour (D) 6.5 km/hour

e i i 22 L ot e o e sl v & o swe o i e e ww, aw s
T F F A Y | A A e d

(A) Hzi fedfyer (B) 3 PR {©) 121 i fioral (D) 12 Femft e

A person can row 22% km an hour in still water and he finds that it takes him twice as long to row up as to
row down the stream. The speed of the stream is :

(A) lszimm- (B) 3 km/hr ©) 1% kny/hr (D) 12 km/hr

e Foiar v i e % 2000 31 T 50 9 ffw A 2 § S A oA Y| 56w S
S, AT 5% Hew O WA U # § SR € A0 6, a9 67 98 25% F AT FA0 | e
50% T 1 SR o6 Feam e o | < Fsta 1 e A g R0

A manufacturer undertakes to supply 2000 pieces of a particular component at T 50 per piece. According
to his estimates, even if 5% components fail to pass the quality test, then he will make a profit of
25%. However, as it turned out, 50% of the components were rejected. Then what is the loss to the
manufacturer ?

(A) 730,000 (B) 726,000 (C) % 28,000 (D) 24,000

T FRFE 6,400 H w= 0 AT T A 20% F B T | T FE H A A L ?

By selling a car for% 6,400, Mr. Rao lost 20%. Then the cost price of the car is :
(A) T8A00 (B) T7.680 (C) 8,000 (D) 7,200

e A AT T 1,764 3 anfifen fept o fear s 2, e anfer weitf 5v st sar v # 1 dr
e o é e feeat o 2

A sum of money is paid back in two annual instalments of T 1,764 each, allowing 5% compound interest
compounded annually. The sum borrowed was :

(A) T3240 (B) #3220 (C) %3200 (D) T3.280

C 3 B U w1 5w 18 A7 of 04 fo i o e w1 32 8 ot ae v arer e siw fe co=en
T B 7 3 e 5 e o o e

(A 10T (B) 5%&: ©) s;—ﬁq (D) 5T

C and B can do a work in 18 days and 24 days respectively. They worked together for 8 days and then
C left. In how many days did B finish the remaining work ?

(A) 10 days (B) sjldays © R%days (D) 5 days

A 11 B 0ot o e 75 o # w wen €1 92 v v e v foen A A 3 g e e are fan
A B A 7 e w1 23 ot g e | A % el g o % Feee et = e et oo

(&) 25fem (B) 19Fm ©) 18 (D) 26fe

A and B each can do a work in 75 days. They began the work together but A left afier some time and B
completed the remaining work in 23 days. After how many days of the start of the work did A leave ?

(A) 25 days (B) 19 days (C) 18 days (D) 26 days

U T 1 A ° 25% Thg o1 TS | e SR F 20% Fe T mar i R 10% e fr e  avd i
it afa T

The increase in the price of a certain item was 25%. Then the price was decreased by 20% and then again
increased by 10%. What is the resultant increase in the price ?

(A) 15% (B) 10% €) 125% (D) 5%

T 7 180 9 e sit % 280 wfy fewmmT guareft a1 s 7 9w 5 o s i e e
T firon 7 7 320 wfe Feetm o 4= S W 20% FEr A

In what mtio must the two types of tea at T 180/kg and ¥ 280/kg respectively be mixed so that the obtained
mixture sold at¥ 320/kg earns a profit of 20% ?

(A) 2:13 (B) 4:13 ©) 1:14 D) 3:13

A ST B 7 fa i w@ ¥ S S 2 0 3 R ST i A F e 9% 9EaA # B g T o wwm &
15 firmz sAfirs ww e 2 | afe A 3 of & =rem <, 1 98 g aa e A Rre o

(A) 45T ®) 35fR ©) 215Fme (D) 22.5fF

The ratio between the speed of travelling of A and B is 2 : 3 and therefore A takes 15 minutes more than
the time taken by B to reach a destination. If A had walked at double the speed, how long would he have
taken to cover the distance ?

{A) 45 mintues (B) 35 mintues (C) 21.5 mintues (D) 22.5 mintues

e TR HIT S 5% A 7 8 3 AT S Al & | 3w e S e 0% w6 A e ?
A sum of money becomes three times at 5% per annum simple interest. At what rate % will it become six
times in the same time ?

(A) 12.5% (B) 14% © 1% (D) 10.5%

ST T ST T STAT R 7
What comes next in the sequence ?
ACEG,__
(A) K (B) H (o)) (D) I

O A A FTE TG E | HEF FTE T T U A S G T T 47 BATR | Tl T 3 8 E
i K feam & et T 1 T 1 o (70 fohef Tt 6 et =t 2

gt ot ah # e A T R, 1 T A U A e g

(A) 3ERE (B) 3#RK (C) 8HRE (D) 8HATK

Four cards are placed on a table. Each card has a number on one side and a letter on the other. The cards
on display show 3, 8, E and K. Which cards must be tumed over to satisfy our requirement ?

“If a card has a vowel on one side, then it has an even number on the other side.”

(A) 3andE (B) 3andK (C) BandE (D) BandK

TFER ¥ 6§ A, B, C, D, E, F¥ | B, CH¥a &, 3 ¢, BH AT 8| A 3w c R ser 21 B, C
FUER| D, A SR | F, A s & | afram o foreelt whzen wee #0

A family consists of 6 members A, B, C, D, E, F. B is the son of C, but C is not the mother of B. A and C
are a married couple. E is the brother of C. D is the daughter of A. F is the brother of A. How many female
members are there in the family ?

(A) 4 (B) 2 ©) 3 (D) 1

AT 6 ST AT TO0 R, Tl 10 ST T A e ?

If the cost of 6 mangoes is T 90, what is the cost of 10 mangoes ?
(A) T160 (B) T130 (C) T150 (D) TI120

5 ST AT T A A A1 o At i T 96 o | e, 4 90 T8 S wi stemssy i
BT I % 4 ST 1 ARTE AT ST | AT § W o Al @ e o 2

A few students went on a trip and the total amount planned to be spent was T 96. However, 4 students did
not turn up and as a result the remaining students had to contribute ¥ 4 extra. The number of students who
attended the trip was :

(A) 6 (B) 10 ©) 12 (D) &

s Fa &, o 3 di siemane ol el e 3 v 38 2 Safs o s sem ) fr
R F G

Four letter-clusters have been given out of which three are alike in some manner, while one is different.
Choose the odd one.

(A) BDFH (B) PRTV (C) OQRT (D) HILN
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s Fifs e, weelt smpfa (X) # fow T zoEt & -t sty A adT )

Find out which of the figures can be formed from the pieces given in the first figure (X).
(X)
(A) (B) ,x/ ©) (D) k?

v, Tg i A AT e gu faft e 8, aw e W fray Fr sweirdt gam w1 fafe fooet
T S TS A A A © 7

(A) &= (B) @i (C) wmdt (D) &

Pointing towards a girl, Vipin says, “This girl is the daughter of the only child of my father.” What is the

relation of Vipin's wife Parvathy to that girl ?

(A) Sister (B) Mother (C) Aunt (D) Daughter
g7 T i ;

FIT  HIRTE :: M : 7

(A) =TT (B) wHE (C) T (D) wfdese

Complete the analogy :
Camera : Photographer :: Microscope : 7

(A) Biologist (B) Chef {C) Pilot (D) Architect
Eifer ST R e FH E 7
(A) 2FTHBElE (B) =T EaTH HiF o ©

(C) BAT#HS 32
How are dolphins and whales similar 7
{A) Bothare fish
({C) Bothlay eggs

(D) =T % e whed &

(B) Both breathe air
(D) Both have scales

afe s v v Fraf s (o) B s s @ s smant (36) % Feie e 8, ar
AT (FTH-HTTH) (o6 AFR w2 7

(A) TEE (feFE)  (B) ST () (©) = @) (D) WS (FFEEIH)

If you have a regular pentagonal prism and you slice it parallel to its bases, what shape is the
cross-section 7

{A) Pentagon (B) Rectangle (C) Square (D) Hexagon

[ELCEcka el
Find the odd one.

Slelsle
S0 o0 @ B

P it & fawr gma i

Find the odd one from the following :

P
4 -0 -0

1778 sl A fepa s E 0
How many rectangles are there in the given figure ?

(A) 17 (B) 14 (©) 15 (D) 13

faw e oy 3 Pngsit (zreirem) 1 e i)

Count the number of tdangles in the given figure.

(A) 10 (B) 16 () 18 (D) 12

e ferdi & &, = g S 7 s s o |

Out of the figures given, choose the one that will complete the series.
@] | =] [

(0] af=] o 0

A SRl S W IS wEd w= & e
Choose the letter pair which is different from others in the group.
{A) MH (By TO (C) OK (D) GB

gEer: 3,5,11,29,83,

i # STt HeAr w et ?

Series: 3,5, 11,29,83,

What is the next number in the series ?

(A) 245 (B) 253 (C) 233 (D) 283
AT ST HEA W |

Find the next number in the series.

62,55, 48,41,

(A) 36 (B) 32 ) 38 (D) 34

“afify — et rea-gH et w1 o fetatan § @ wn g 0

(A) AT SEIT (B) ST (C) e (D) W %
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V4
--Select--

V2
--Select--

VA
--Select--

V2
--Select--

V2
--Select--

VA
--Select--

VA
--Select--

V
--Select--

V2
--Select--

VA
--Select--

V
--Select--

VA
--Select--

V2
--Select--
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59 g aneer 3 i e e ® 1 fom wd o sae ® ¢ —-Select--
(A) FRITEY (B) =9 59
(C) FaW 3 o T 2t (D) ITHLH

60 fafmd srm e e D --Select--
(A) =d (B) ¥ C) == (D) =@

61 FTE 1 3T A ATe! T H e Fed € | 50 3 6 g el vrew A o 2 B --Select--
(A) T (B) (C) skt (D) wstET

62 1987 % ey (sRfaram)” % for e SRt qreem Gt fomm w2 B --Select--
(A) Tom e fiE (B) #ftehid =mi (€) Frems (D) Torder =mi

63 et § & fsmr = & C --Select--
(A) & (B) & (©) g= (D) ST

64 avfren Pl w22 C  [-Select-
(A) =01 % Fe=oT 4 (B) A1 % HYE F
(C) =it % soaftra ToE = (D) ==

65 ST AT WETEt 7 WE T 30 A D --Select--
(A) #HeEvfemaT (B) sEedAdEEA (C) sWEANET (D) FEqUEAr

66 T T =T ST B --Select--
(A) e (B) @ (©) &= (D) it

67 E R &, T 98 S 21 AT H Fi-a] Sea E ? A --Select--
(A) FHUEEF (B) H==a=E (C) HkaaraF (D) whoHETEE

68 BT 2] TEET S ATl ASl 1o Bl &7 379 w5 i e B --Select--
(A) o T arer e (B) =TT & o 2
(C) /31 =1 ot et Fraprerat (D) =T A A

69 gfir — $far wroq g wd fasen g - D --Select--
(A) WHIEI—E (B) tEm —efter (C) Fu-3iF (D) FwTH—=arEr

70 Frferfian & & o % ¥[5 &7 1 = Hif B --Select--
(A) FTH AR §) (B) ® M T spATH FATE
(€) A FAMEFE £ (D) i FE FAT LN

71 T — I I A I D --Select--
(A) aHi-fnfar (B) wT—fT (C) TG — TGHT (D) Frda -3t

72 T W T e D --Select--
(A) 3mog (B) fafew ©) T (D) =

73 FATET AL : C --Select--
(A) Tag (B) =R (C) HaTE (D) P

74 Frfafiaa § & fora ama d wdar=r w1 wEm g 2 2 A --Select--
(A) TEATHF IR (B) WFH T F FEOTISA A AT
(C) 377 AT G e AVEE AT | (D) @ g SeEE O |

75 frofafaa § & =0 s fas 22 B --Select--
Ay (1) By (:) © () D) (.)

76 fg e et i & foqr =1 Sifam Fard B --Select--
(A) fagm (B) g ©) fagh (D) Forgeft

77 TH FA AT 0 T § 3 fow o i) B --Select--
(A) =IEF (B) W= fag (C) Safamm (D) T fm

78 Frefertia o & w51 91og fagioor 2 C --Select--
(A) g™ (B) =F (©) fme (D) W&

79 o T 95 E 7 C --Select--
(A) 6 (B) 4 € s (D) 3
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T O] T AR TR

(&) at (B) =3 (C) @ (D) &=
FATE 6% FEE TGS T AT (e TEI
(A) =Fsar (B) zawa (©) =ard (D) warEat

Forg o =t g farg o, = forg ot = iy v | it o g e
(A) fowmm sesr (B) FasWifs se=n (C) gEFd SR (D) i SAein

Frfafiad # # fora & 7 fagty armem % forg aris qeer e fear s e 2

(A) wifes (B) famm (C) wuTs Far (D) o
37T ITo% o1 EHTEITE R 7
(A) Tms (B) SH&T (C) wgt (D) 7@

=i ot @ () AT R

(A) FHTIFT (B) TiE @ (C) = mret (D) =3
Frferfiaa & & yfee wes @ife

(A) #TER (B) T (C) Fem (D) =med
WA & e At # F fuuw e

(A) e (B) fmmam (€) HiE (D) farfem
S F e R

(A) HTEH ST (B) F=EmAHIwE (C) =Tei FT & (D) T=AfEE T

e — il YTeE- g T EE S R
(A) ST — I (B) =% — TFEE (C) T —uFEE (D) =% —FeiT

o H. 90F 94 T TH
iteft =i Tt (i) g e wew i afeg w2 | R sraw w fafate wh ¥ s
et < 71 3t «ff e wa frvar i s

i W [T € SE Ao & A

Tt 7, = F T S A ga

=1 T, 7t At 3 4 e i weEn

TERTY el et gt Wi et e off

T T % o e A e At

o ot T Fe gt aredt o o

wrferst ot s Tt £

(A) aifif® (B) areEys (©) sty (D) =i

g @<l e g dt st aret 1 et § wear wres @ e 2
(A) ©EE (B) i S (C) [rveaad (D) =ET

Itk TS T W I o W ©
(A) RIS T oAt (B) 1857 FI7TaE
(C) ST 1 AT (D) =it Frf

WHEAT I FAA AT
(A) ¥ (B) GWTFAASER  (C) amamET (D) were =t

o A i e T R
(A) d@i (B) =01 (©) Fm (D) Wi

Frefefaa & & #i-Ht g fm d fa 20

Which of the following numbers is different from the rest 7

13,17, 23,27,29

(A) 27 (B)y 17 ) 3 (D) 13

afe awr ¥ faurfia s areh A i i 18 /e &, 9 awn i fa 7 2, =z aw o fam & o s
e foeam et mf & 0% stfe 2 2

(A) 4.5 et ufer gzr (B) 4.6 et afe ger

(C) 5.2 et wfer wizr (D) 4.8 Tt wfe ger

If the speed of a boat moving against the current is 18 krvhr, what is the speed of the stream if the boat’s
speed downstream is 50% greater than its speed upstream ?

(A) 4.5 kmph (B) 4.6 kmph

(C) 5.2kmph (D) 4.8 kmph

8 wieT STaW 31 16 et Saré At gt 1 dher AT 2

‘What is the area of a triangle with base 8 meters and height 16 meters ?

(A) 64m’ (B) 128 m? ©) 15m’ (D) 2m’

ek et ST AT o weet 200 FEdt 80 e i ia & o waar @ 1 we e & S g e e
et 200 Tt 50 Fidiyerer i e & o = 2 | 3wt awT % eet 400 fordt 3 foru smeh siaa il w2
(A)  68.15 ferftyeier (B) 64.15 fefiyear

(C) 58.15 femftyeier (D) 6153 fepfiyerer

A man travels the first 200 km of his joumey at 80 km/hr. Due to bad weather he travels the next
200 km of his journey at 50 km/hr. What is his average speed for the first 400 km of his journey ?
(A) 68.15 km/hr (B) 64.15km/hr

(C) 38.15 km/hr (D) 6153 kmvhe
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“ | Submit Objection |
--Select--

G | Submit Objection |
--Select--

z | Submit Objection |
--Select--

“ | Submit Objection |
--Select--

G | Submit Objection |
--Select--

z | Submit Objection |
--Select--

£ [ submit Objection |
--Select--

G | Submit Objection |
--Select--

z | Submit Objection |
--Select--

£ [ submit Objection |
--Select--

G | Submit Objection |
--Select--

<z | Submit Objection |
--Select--

z | Submit Objection |
--Select--

G | Submit Objection |
--Select--

z | Submit Objection |
--Select--

G | Submit Objection |
--Select--

G | Submit Objection |
--Select--

z [ submit Objection |
--Select--

%
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% T o T TR A, 40 T =TT TG L, 30 FT R GE 2, S 20 F A S RO AT w6 L, AR S D --Select-- |
Fael I g A E 7
If in a group of people, 40 like tea, 30 like coffee, and 20 like both tea and coffee, how many people like A
only tea ? | Submit Objection |
(A) 15 (B) 10 ©) 40 (D) 20
e AT o ST ST A g S 7w, < S A A 2 ol 9w St i A A fear S 2 0 aw D \--5e|ect--
Toperefr aeli off 2
(A) wfaer (B) I (C) SaeT st (D) =2t y; _ —
Pointing to a photograph Daisy said, “I have no sisters but that man’s mother is my father’s daughter.” | Submit Objection |
Whose photograph was it ?
(A) Husband’s (B) Daughter’s (C) Her own (D) Son’s
it afer < st 20 feplt wreft, fier amf sif gt sit 20 feft eft 1 o i awdt s g2t o 20 foft w<ft 12 A --Select--
o AT i 45 et o e it =t | o e e R A w0
(A) T (B) ufem () =g (D) @ Y _ —
Rani went 20 km towards west, then turned left and went 20 km_ She again turned left and went 20 km. | Submit Objection |
She took a 45 degree turn towards her left and went straight. In which direction is she walking now 7
(A) North-East (B) West (C) South-East (D) East
Frefefian afersr ofew it ol 2 stm *472938° ¥ foroamafie #e wm i C --Select--
=D v e y
AT M R T B w K D N )
T : ‘ | Submit Objection |
I A HE ¥ et 37 sife A st faw o E 9 ae S FEw F sy e s e |
2. A dEm % veet S sifaw AT siEEn S E a1 A 20 % T A it T S e |
3. e i sifew st @ v @ i gE AW 2, 9 veet i # Q' 30T sif o # oW F
epifea wETE
(A} KTMWNB (B) KTMWNZ (C) ZTMWNZ (D) ZTWMNZ
Read the following table and find the relevant code for ‘472938 as per the conditions given :
‘Digil ‘2|5|7‘8|9‘4|6|3‘]|
‘Leﬂermde‘M|R|T‘B|W‘K|D|N‘J|
Conditions :
1. Ifboth the first and last digits of the number are odd digits, then both are to be coded as *S°.
2. Ifboth the firstand last digits of the number are even digits, then both are to be coded as ‘Z°.
3. If one among the first and last digits is odd and the other one is even, then the first digit has to be
coded as Q" and the last digit as *W*.
(A) KTMWNB (B) KTMWNZ (C) ZTMWNZ (D) ZTWMNZ
ST 15,36, 63,96, W 7ol gE @ Fif | C --Select--
Find the next number in the series 15, 36, 63, 96, .
- Yz - —
(A) 145 (B) 128 (C) 135 (D) 122 < | Submit Objection |
ferem 2w ra ifw | c --Select--
(A) 958 (B) T T y
| Submit Objection |
(C) Fgam: FH () (D) o : fireem
Find the odd pair.
{A) Sheep:Lamb (B) Cow: Calf
{C) Tortoise : Turtle (D) Dog : Puppy
fo e foret 5 & e 7w A i < e oA e A --Select--
AT | T T
(A) T Fa@ (B) ZZATART (359) - AT Vz Subrmit Obiech
E jection
(C) TeTs - e\ (W wie) (D) EATE ST - qF l l
From the given options, find the pair which is similar to the given pair.
Projectile : Trajectory
(A) Satellite : Orbit (B) Shooting star : Atmosphere
(C) Ship : Knots (D) Aeroplane : Route
O AR A, 9 # P, Q. R, S T # | P 3R Q U Fmted sirer 2, Q wiewn @5 & 1 P, R A WA A2 A --Select--
2, Tt gehettelt T S 21 T, SFAWIR | Q, T & waifra 29
A) W| B) W C) ¥ (D) &M
§n a fan‘l\ily‘ there are ﬁve(: members P, Q, R, S and ‘Sl‘.)P and Q are a marded couple, Q being the female é | Submit Obi . |
member. P is the only son of R, whose only daughter is S. T is the mother of S. How is Q related to T ? ubmit ]eCtIOﬂ
(A) Daughter-in-law  (B) Sister-in-law (C) Daughter (D) Mother-in-law
T #, o 3 At S sven 3 A d # 1 ft ae @ g3 qu E | aven ¥ e e ot 3w sietd 9w D --Select--
Tt & & v F o i wd weg wa 2 | W ek ww Fifaw)
In the given question, there are two sets of letters to the left of the sign :: which are connected in some y/
way. The same relationship obtains between the third set of letters and one of the four altematives under it. | Submit Ob] ection |
Find the correct alternative.
18120 : RAT :: 18914719 : 7
(A} RICH (B) RINCH (C) RIMBS (D) RINGS
YXFEAR S PFEARIZ Y Femafem 21 2 Fm i pd 2 B --Select--
(A) aRrad (B) fegr-afam (C) wwa-afam (D) v
Y is in the East of X, which is in the East of P. Z is in the North-West of Y. In which direction of Zis P ? é - - -
(A) South-East (B) South-West (C) North-West (D) North-East | Submit Objection |
S e Fr i | D --Select--
Find the dissimilar number.
V2 : —
9271, B482, 7633, 6724, 5745. < | Submit Objection |
(A) 6724 (B) 9271 (C) 7633 (D) 5745
Trefefis Tr-=w T T ¥ S A R T e s e fae aetr & | WA w5 s Fi s A \--Select--
T ST T 5 A A |
The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a Y

book. Study the pie-chart and the answer the question based on it.
et MieEd % WA A g A & = Various Expenditures (in percentage) Incurved
(v &) in Publishing a Book

Printing Cost

Paper Cost
25%

Binding
20%

f et e o i e T e & 40% it Frato fo a2, S sife e 280 R, @ g A
e T 3 T F T AT e

If the marked price of a book is set at 40% above the cost price, and the marked price is 280, what is the
cost of the paper used in one copy of the book ?

(A) %50 (B) %60 €y T30 (D) 40

https://ctcp24.com/KeyChallenge/Candidates/Challenge.aspx
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< 1T ST ST & AN T I A |
HDYSMWNBQPOCRTBLZVEGUF

7w # FH -8 A g aviae w ¥ w g d

(A) V3RE (B) D3y (C) USRF (D) B3Q
Answer the question according to the letter series given below.
HDYSMWNBQPOCRTBLZVEGUF

Which two neighbours in the given arangement are farthest in the alphabetical order ?

(A) VandE (B) Dand Y (C) Uand F (D) BandQ

A ST 95T INFORMATION' 3 1, 5, 6 3117 8 & ST o7 S92 0 3k U St stiiefT wiem = e €,
T I8 753 T S A ?

If you can form exactly one meaningful English word using the 151, Slh‘ 6™ and 8™ letters of the word
SINFORMATION®, what will be the fourth letter of that word ?

(A 1 B T © R (D) M

Tl o eI AT WA AT

(A) IR W (B) ustE (C) I W= (D) =fEm
The Indian state with the lowest sex ratio is :

(A) Arunachal Pradesh (B) Punjab (C) Unar Pradesh (D) Haryana

2021 §, T F fzrie W gk d we s geme e S arer s it wew §

T fearmar e

(A) =t (B) weem (C) r=at (D) 7T

In 2021, Instagram was ranked globally at position on the Internet in Most Used Social
Media Platforms Worldwide ?

(A) Fourth (B) First (C) Fifth (D) Second

=it 3 Termere o smermor e fepam 2
When did China invade Tibet 7
(A) 1949 (B) 1950 ©) 1953 (D) 1952

et & & for < 7 e ST 1 39 Fen: A e 2

(A) I (B) & () ¥ew (D) T
Which of the following organisms is considered a bioindicator of water pollution ?
{A) Lion (B) Zebra {C) Frog (D) Earthworm

ST (D) FEAE S ;

(A) D= S(3TR) /S () (B) D= S (@) /N
(C) D=N@em) /s FH) (D) D =S (3m#m)/ W(TH)
Density of a population (D) is :

(A) D= S(size)/ S(space) (B) D=S(space)/ N(number)
(C) D=N(number)/ S(space) (D) D=_5(size)/ W (weight)

AT Hre T 6T TR ST o STaiT T ol 1 4 g ¢ ?
(A) TEE ST WEIT AT ¥ qER

(B) WA HOeT FAT i STz # [ s w6

(C) iRt 3 for Tt FriaTs 1 %0 o ST T WA i gt w0

(D) wwiwr et shr g g ared e we o b s

How does the integration of biometric technology enhance India’s internal security framework ?
(A) By improving identification and verification processes

(B) By eliminating the need for human security personnel altogether

{C) By reducing paperwork and streamlining admini ive pri for citizens

(D) By providing real-time location tracking enhancing overall surveillance

1928 & ST WeanTE 1 Aded foRa foRar o 7

(A) ST T (B) WA SeelvvTE Tee

(C) g Ezam (D) WEwHTE

Whao led the Bardoli Satyagraha in 1928 7

(A) Jawaharlal Nehru (B) Sandar Vallabhbhai Patel
(C) Subhash Chandra Bose (D) Mahatma Gandhi

o esReTen ferefdn 7 g sErd il A s ) w1 e

(A) T (B) srmEldiE (€) wrfags (D) T w7
Who is the recipient of the first-ever ‘Lifetime Disturbing the Peace Award’ ?
(A) Rory Stewart (B) Arundhati Roy {C) Joe Biden (D) Salman Rushdie

o G W S 3 ciebaT i T il & S st S s S
e #12i 3 e =1 g ?

(A) 791w (B) 44 it (C)y 73 HEI (D) 4291 g

Which Constitutional Amendment Act extended the reservation of seats for Scheduled Castes and
Scheduled Tribes in the Lok Sabha and State Assemblies ?

(4) 79" Amendment (B) 44™ Amendment  (C) 73" Amendment (D) 42"¢ Amendment

“Fiheeh” Fier ara % R T d fem ¥ 7

(&) Frgm (B) W (€) firsi (D) e
The “Loktak™ lake is located in which state of India ?
(A) Trpura (B) Manipur (C) Mizoram (D) Meghalaya

AT (S5 T3 i T S U F S AT Weal a6 5w TR Hifer fhgia a6 agEr 2 e 7

(A) worgar (B) == () =g (D)

The words “Unity and Integrity of the Nation” in the Preamble aim to promote which fundamental
principle ?

(A) Sovercignty (B) Justice (C) Fraternity (D) Equality

UDHR (AT Sant i ST S #1 #1981 s=02 IegT & wor e & s £ i 3 & 2
(A) =25 (B) =% 14 (C) =% 18 (D) =% 10

Which article of the UDHR (Universal Declaration of Human Rights) guarantees the right to seek asylum
from persecution ?

(A) Article 25 (B) Article 14 (C) Article 18 (D) Article 10

wfE e )

(A) TrFmafae e (FE-grfi o B) st afwtt @E-afers o)
(C) i i (F-Te T (D) #-faemfen wfrafvat (F-wwifd o)
The full form of NPA is ;

{A) Non-Performing Actions (B) Non-Public Assets

(C) Non-Package Action (D) Non-Performing Assets

I e o o et 3 e e o S g 2

(A) Tommi (B) smren (€) wfemy (D) st
In which district of Uttar Pradesh is the ‘Shera Dance’ celebrated ?

(A) Bijnor (B) Ayodhya (C) Lalitpur (D) Amethi
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127 Ffean famm vhrem formefit sTerarem 0 A --Select-- | Choose File | No file chosen
(A) ST FHAH ATE (B) {w = @ P
(C) U, sr=awi (D) TTSE YEE “ | | submit Objection |
‘India Wins Freedom’ is the autobiography of whom ?
(A) Abul Kalam Azad (B) Subhash Chandra Bose
(C) LK. Advani (D) Rajendra Prasad
128 2016 % fanpgraon ¥ arg RBI =1 fra wfaem 500 37 1000 79 3 Fre W 30 ? D --Select-- Choose File | No file chosen
What percentage of 500 and 1000 rupees notes was received by RBI after the 2016 demonetization ?
(A) 97.45% (B) 95.65% (©) 9327% (D) 98.96% Y | Submit Objection |
129 1993 # wF sty o frm g X F1 SR C --Select-- Choose File | No file chosen
(A) it o ueedy Himu (B) Eerfisfi s P
(C) forwar s (D) TFEET T “ | | Submit Objection |
The World Conference on Human Rights in 1993 adopted the .
(A) Helsinki and Amsterdam Declaration (B) Helsinki Declaratiol
(C) Vienna Declaration (D) Amsterdam Declaration
130 AT TH] THE0 Hﬁﬁﬂﬂﬁﬁg@@ﬁw%’ A --Select-- Choose File | No file chosen
(A) T S #=1 3 SeE o fore &t ooy faemet v e p
. (d . . .
(B) AT S ¥ Y] ST F I Agrar d [ Submit Objection |
(C) ST THIY] IFEARTR 31 FH FT1
(D) AT ERER & Sed W afEy
What is the main purpose of the Comprehensive Test Ban Treaty ?
(A} Ban all nuclear explosions for both civilian and military purposes
(B) Promote the peaceful use of nuclear energy
(C) Reduce existing nuclear arsenals
(D) Ban nuclear weapons production
131 ST T o 2 6 Ao 3 (T feRe S § 7 D --Select-- Choose File | No file chosen
(A) wieea (B) T (C) Fordte (7Tew®) (D) @
Arjuna Award is conferred for achievements in the field of : bz | Submit Objection |
(A) Literature (B) Dance (C) Theatre (D) Sports
132 _‘Wmm%ﬁw %wﬂ:ﬂﬁaﬁaﬁﬁaﬁmw%l A --Select-- Choose File |No file chosen
(A) wrEE (B) FeraT (C) WTe=a (D) wErEHE
is a software program that filters all the data coming through the Internet Va | Submit Objection |
(A) Firewall (B} Cookies (C) Malware (D) Antivirus
133 aﬁ%mwﬁ%ﬁqﬁwﬂﬁm@mﬁ%mﬂﬁmaﬂn%hww%? D [--Select-- Choose File | No file chosen
(A) ST AT (s (B) i Jeakha [_
. i (D) IR S vt (A=) 4| ISibmit Objection |
What is the term for the strategic use of social media platforms to communicate with an audience 7
(A) Virtual interaction (B) Social networking
{C) Online chatting (D) Social media marketing
134 2 i TE R 2 C --Select-- Choose File | No file chosen
(A) WA (B) - (©) Preg (D) FwifeEr
What is the capital of Bhutan ? VA | Submit Obiection |
(A) Sarajevo (B) Porto-Novo (C) Thimphu (D) Brasilia J
© All rights reserved
135 AR H HEH AT T T FAHT 2 A --Select-- | Choose File | No file chosen
(A) ST BT HY (B) wereH i &g Y
(C) s S e forst (D) EHrEHg = | submit Objection |
Which is the longest River bridge in India ?
{A) Bhupen Hazarika Setu (B) Mahatma Gandhi Setu
(C) Annai Indira Gandhi Bridge (D) Rabindra Setu
136 3 forar ez o A Fa B --Select-- Choose File | No file chosen
(A) 9T 1995 (B) =TE 1998 (C) =arE 1991 (D) #1853
When did the Government present the Kisan Credit Card Scheme ? Y | Submit Objection |
(A) November 1995 (B) August 1998 (C) July 1991 (D) Aprl 1853
137 T A fererem % dfrer weart & 3k dnft e whgwa ¥ e e afed T s 2 C --Select-- Choose File | No file chosen

(A) T TR FAEHAT & A A
(B) =i wiae et %
(C)  THT HANT S HE Ha TG

(D) Wi T o AT |

How does the partnership berween India and Vietnam change their regional security dynamics ?

[ Submit Objection |

{A) Through joint nuclear programmes

(B) By imposing economic sanctions

(C) By increasing defence cooperation and maritime security
(D) Through cultural integration

138 14 firdta =1 Fopm w9 H qEm AT 2 2 D --Select-- Choose File | No file chosen
g ) 4| I'Submit Objection |
(C) Tora ¥ feam (D) T f&d Ram ubrmit Sibjection
14 September is celebrated as :
(A) Engineer’s Day (B) National Voters Day
(C) Wodd Cancer Day (D) National Hindi Diwas

139 W gt T st 2 D --Select-- Choose File | No file chosen
(A) =i (B) emwmt (C) ward srgEl (D) &%® Ant 4
The Bharatmala Pariyojana is related to : ‘ | Submit Objection |
{A) Forestry (B) Waterways {C) Airports (D) Roadways

140 i sirdars et s 3 A o fore fo wmet 1 fmiam wren smar & A --Select-- Choose File | No file chosen
(A) UNCCT (B) =Tt () faad= (D) =it
Which organisation is held responsible for coordinating global counterterrorism efforts ? Va | Submit Objection |
(A) UNCCT (B) NATO (C) World Bank (D) INTERPOL

141 79 30T, 3E, I S gl W A e e ? D --Select-- Choose File | No file chosen
What is the GST rate for necessary items like milk products, bread, etc ? P
(&) 28% (B) 18% ©) 12% (D) 5% < | | submit Objection |
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TEHT LAY 3 W ST e R A (e @ S 2024-25 a9 29 FrEwE e 2
(A) s B) st
(C) smiEfie D) T T

What is the name given to NASA’s manned landing mission to the Moon which is likely to happen by
2024-257?

(A) Artemis (B) Ordon

(C) Apollo Regained (D) Lunar Gateway

STl ersieg e, ST fuge (ITER ) wheEisHT o siwa fmferfiaa 4 oramrdan sefiia s=s -
(A)  witie- st ferseft seamer

(B) @2 Y it i A % w0 g e

(C) STa H Irer Srerifirh

(D) St geura 3 fore, weomy forae

The International Thermonuclear Experimental Reactor (ITER) project aims to demonstrate the feasibility
of :

(A) Space-based power generation

(B) Fusion energy as a lange-scale and carbon-free source

(C) Advanced solar panel technology

(D) Nuclear fission for energy production

S 2024 T I W1 # fa0E 3 FaT i 2
(A) @i el B) wfFRTEsT
(C) snfam Faliamer (D) Trge i

Wheois the Leader of the Opposition in the Lok Sabha as of June 2024 ?
(A) Sonia Gandhi (B) Mallikarjun Kharge
(C) Arvind Kegriwal (D) Rahul Gandhi

AT AT Qe 3 o i 8 7

(A) TEEEH (B) Fommed it (C) &9 &g (D) i et
Who is the author of the book “Tughluq Nama™ ?

(A) AllenZen (B) Ziauddin Barani {C) Ibn Battuta (D) Amir Khusrau
s st Sl uSHT (IRENA) 71 &t & 7

() g W et $a afEsETT ¥ o e e v et
(B) Tarretter 3um ¥ fou vy st wriw Tl w2

(C) IRENA TiHTT Sl 1 3T @™ W ST Hd 1 &

(D) STE7 (FTeTeRTol o) Sell 3 SHATT =1 weeEn sl &

What does the International Renewable Energy Agency (IRENA) do ?
(A) Provides financial aid for fossil fuel projects worddwide

(B) Develops nuclear energy programmes for developing countries
{C) IRENA focuses on advancing nuclear power

(D) Promotes the use of renewable energy

T ST # et § & frm e 77 % e e e 2

(A) wHufaa (B) HaTHE () THH (D) s
Which of the following type of tax is submitted in Indian GST ?
(A) Property Tax (B) Service Tax (C) Wealth Tax (D) Income Tax

Frefafiaa 3 # fom veel ar gfar fivar =1 fa=m afomfa fear 2

(A) T AR T (B) SR HEE
(C) =amHE vt (D) WErenT AT

Who among the following first propounded the idea of Basic Education ?
(A) Raja Ram Mohan Roy (B) Jawahadal Nehm
(C) Dayanand Saraswati (D) Mahatma Gandhi

R H, 2020 — 21 F F-87 T4 T H1 TS 09 1 2

(A) FATZF (By @™ (C) afierrs (D) weErwRE
In India, which state was the leading producer of spices in 2020 — 21 ?
(A) Kamataka (B) Assam (C) Tamil Nadu (D) Madhya Pradesh

Freafafaa & & Fa-ar cer andg § TR F @el F 57§ TET A6 ?

A) = (B) femmett (©) Formmm @erfay (D) @l
Which of the following festival is known as the festival of lights in India ?
(A) Eid (B) Diwali (C) Christmas (D) Holi
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